WY [
TA—R5F—SHREUR

FGS-5S
IRiRkEREASE

BREICTEAN DI
COEBRR=TYIRSAT T /00— UREBBEVROVNLEERHYHEITTNET, \
COIRHAEL. URAORELTHICRESE, RECTHEAVLELOIC, CEAMICLT BRALSL,
COMBHAETE. REIBFEOIUV%E (BRI [E4] LU DER] LLTRALTOVET,

364-23-088-1

A\
A\
A\

ek

W ZER GBI TF I EGERSIBRTKENELLIEABESN,
MOBRRELEROEZEENRERAE WEDESRL) NEVREMNGES.

BREROEERIRTEFRFEGERSIBRTRENELHENBES

BRER G RICREEZAINTIYMENBEOANEE T HBIRTINE

26z A=

= H naBa,

=

N

T B MECHZEMBEENDEE,

Q #

f;B’I (=] [CERBLEBETHRRICE > TIEIERGERICEU OAIRESELAHYET,
/w7y

WFhLBEELABRETLHLTEYFET DT, BT FoTEELY,

OBHmAITEo=HElE. BEWILEANNDTELRONLECAIZHTRELTIZELY,

O

F<EE

[ $R 4 &5 ]

COHRBZELLZREICBENDWEEO, CERADOHIICG T RKEGHAZE
FLBHEAITGY . R CEFZE TEEZSD,

A\ &%

B! BER, EyTa
T BOERRIZIE+ S
FREL TS,

BROTRILBEDLICETSELLE
BEEIBETNAHYET DT, I
YFRNMZF+2EBL TS,

A EE

REE. RSAF
ASSY ER[ZF Ao EE

FLEVWEIFEELTHE
by,

O =

AR, T—UD®R
BMEEIZTREELT
ERL TS,

Oi:=

LIN—, N\NUFRILGEE
oyl T
LY,

O ==

ERDE NG PERE
IKDWMNBIGFIZ (TR
ZAFHFIENTLIESLY,

Z5w DS+ J572J)05-% &4t



MiEELDIEERE
1) FRISRY LSTHHATOEARRE XRIT TS,

@K, H., ER., BEEDOMID DG
QMW E DIRENEZ T D5
@ERE (40°CLlL) 121 515FT

2) ARBEITK, H. ERGEADDOIHZEF. EOMNMIIHER>TZELY,

3) YuF—. AVIUGETOFERIEEITTIZEL,

WEERZ IR DRI

TN DR R THINERLES, HIEEEELT. ROAFSHEEES,

1) BafTERiRDHEAE - A EHREL TN,
2) EEPOHRERONLIEENGOMERL TS,
3) TERMEHERL TSN, (TEMBRAE—EREZEZELY)

HTRA—EX

B

==}

TSAFARKRY M4x8 FGC. FGN A A41@
TSAFARXRY M5x6 FGX A 31
ANEEZ/NF Emm 14K

F—DNT )T 118

VrykRILh M6x16(AEE{TRA) 2K
TYRRI)a— M6 X20( TAILLF vy BT ) 1R
ESHYHR M6 21

BikEREEE 180

TR ADEAT T

1) AROISIZfFTEGEDIRELN—ZFLN—RREIZHRLRAHFET,
2) =N )yTERKICRFITET .

BAEREFTESSED LT
fTHk
it o1 &2 200.0N
EERASARAEE | 30mm JEIRRE
Aka—4 50mm
AEERFIR 6— M6
AAEE 10kg

=TT

BELAN—

WARALE il
: RS4K ASSY
y—onsyys |
I TA—RE—T
g 111 h = Hy1¢*ﬁ ~ ‘r-—__r
A oI5 ESHERARILL
. s
11 1 L—(zkBRbA—Y
o EN, - /
N oS \m : N
L ;Jér RAbwsNRILE 2 % u » »
/_—__——- Ie -
| g i f
& 54 9 BETF—TIL
BEOREEH & 81 / -
- : (BERRE) o = =
160 “‘ 240




AlFEF—7 WO
WAET -7 VERLADME FGCAFGN EHBIEt S— 8
160

BET—TIL

6-M6 60
FGX stflEt 2 —GIE

WOA—RXT—U R NDEE

9

54

FGC*FGN ER{t i &

FGX BU{t i 40
P /7 4 ¢ 45
* A R & 8 LS O BR A 9% 1. et
DFG-0. 2~ 50 (IBS#4A4 ) \
DHEERT, - ]ﬁ -
® ~
T
of N1V
o ‘%
& — \ AIRER{TAIR
50

BANO—YRBOLH:
LN—8EI2&kY ., I+r—RT—CDOBHEFFHEITHELDTY,
50mm DALA—IHRETEET,

BESSRIMRRAZDOLM:
LA—RETESAAHRNEIZIE, RS/RE ASSY 2B 8T 52 &I2&Y 30mm CEIZ3RBEDABRATEET,
OFRAEREERAESICENMNFT, =TTV TENLTEEET)

QBEIHERRNILNMLFIDSERNEISFAEREDET ., (COBERILMNINSENIL)
BRITARER ASSY #HE L IFLEMSININVRE DRI EN L TEYLGHEBIZEEL., BYDISFIORILLE

wHDITET,
DB, RTARERASSY ERIKEDMT, 5. FEHFLVLSIFEL TS,




WO+ —RT—UDEIEDLI:

1) ABEHERNF ([FE&) ISTRMAARILLESNL, T+—R7—DBAHRERYSILET .

2) TRD&KSIZ. TA—RT —UBRARICT+—R 7 —DERMAFTES
R {4

FGX 1 )J—XDHE
FGC - FGN V) —XMDiE&E

. /7*_7(’7_/ T — R =D
- DR / B4R

FSRFRRY TIAFAED
“— M4 x 8 41H MS5x6 38
&M

3) MYsLI=RILMZT, REVRFRIKIZEASHET,

BANy/N—FREBOLM =,
SHEE I —AT =D THOMBEROI-VGAIZIE, FTRREETRAM/A—HIE
FIREL TS,

AZAREBASSY D FIZDONWTWWBAYIFTYEED D,

1) FABERILIERLRAATIKE, AMYN—EBRENBLEYET,
2) EBEMNRFYELZLEAVIFIMNERORAHATET TT,

RZAKER ASSY

A%E ,1;%%!
’ -4

WEHAEID LA
X ByYFvk
R RAEZELAYLETF—T LD EIZBNTEEL,
EEISH o TIE. LA—BEIETERR TR L—XIT—EDESTHAL TS
Ay, LA—BEOREAEL (B ELY) &, ERLHANTERNSS s
RoXOES . BRI
RIS, ESTEEICRTIA—RS—S OB ERESIBVELSITHHT
EBTEN,

CEHRIRAVRFBABECHERT AL TEET,

CWEAKREVGE. AMZEEELTITERTIL,

C DFA—RT—=VI2DNVTE, EIA—RT—DICHR G OEIREGBAZEE S B2
=y,

ZFyDRS4I7D)0I-HEtt

£1& WEB N—J TER

HEHE -HSET7+—LTOSHMLEEIETES
https://www.nidec.com/jp/nidec-drivetechnology/inquiry/

ERNERILIIFR

https://www.nidec.com/jp/nidec-drivetechnology/corporate/network/sales/

Copyright NIDEC DRIVE TECHNOLOGY Corporation. All Rights Reserved.

ZFy IS4 I D)0 =4t
AABEY Y FBRRHE 0B F4B10IC (27 v F51775/OU—HRRH ) [CHAEELE LT




W7 [
Force Gauge Stand

FGS-5S

Operation Manual

B Safety Precautions
Thank you for purchasing the NIDEC DRIVE TECHNOLOGY product.

To ensure safe use of this product and obtain the best result of the product functions, be sure to read this operation manual before use
of this product.In this operation manual, the levels of hazard defined in safety precautions are classified into the following categories:

[DANGER], [WARNING] and [CAUTION].

Indicates hazardous conditions that may result in death or serious injury if this product is
improperly handled, and limited conditions that need highly urgent warning in case of hazard.

Indicates hazardous conditions that may result in death or serious injury if this
product is improperly handled.

Indicates hazardous conditions that may result in slight injury or property damage
if this product is improperly handled.

Even if a hazardous level is defined as CAUTION

it may result in serious accident depending on the situation.

Be sure to observe these instructions, because they all provide important information.

After reading this manual, be sure to keep it in the place where users can refer to it anytime.

To ensure safe and proper use of this product, be sure to read this operation
manual carefully before using the product, and thoroughly understand the

handling procedure.
Read Carefully

[Installation and Measurement]

This product is heavy. Use
thorough caution when
handling this product during
installation.

DANGER

If this product accidentally falls onto
feet, it causes serious injury. Use
thorough caution when handling this
product.

During measurement, be
careful not to get your
hand or finger caught in the
slide assembly.

A WARNING

During measurement, use
thorough caution against
workpiece scatter.

€ cruron

Do not move this product by
holding the lever or handle.

Do not install this
product in a place with
high humidity, or a place
where it may be directly
splashed with water.

@ crumon

NIDEC DRIVE TECHNOLOGY CORPORATION



B Operating precautions

1) Avoid using or storing this product in the following places:

1) A place where this product is exposed to water, oil, chemical or dust.
2) A place where this product is exposed to vibration of other machinery.
3) A place where a high temperature (40°C or higher) is expected.

2) If this product is splashed with water, oil or chemical, wipe it off immediately.
3) Avoid cleaning this product with paint thinner or gasoline.
B Before operation

Make sure that the package contents conform with your order.
Unpack the product, and check the following points:

1) Check the model and type indicated on the attached nameplate.
2) Check the product for damage attributable to transportation.
3) Check the accessories. (Refer to the following accessory list.)

Accessory list

Item Quantity
Cross-recessed pan head screw, M4 x 8, For FGC/FGN 4pcs
Cross—recessed pan head screw, M5 X6 For FGX 3pcs
Hexagon wrench, 5 mm 1 pc
Cable grip 1 pc
Socket head bolt, M6 x 16 (for Jig mounting) 2pcs
Set screwM6 x 20 (for film chuck) 1pcs
Plain washer, M6 2pcs
Operation manual 1copy

B Mounting the accessories

1) Screw the supplied operation lever into the lever boss as shown on the right.
2) Attach the cable grip to the stand body.

Cable grip
B Appearance and principal part names

o . Operation lever
Specifications

Load capacity 200.0N
Slide height adjusting range 3 levels in 30 mm step
Stroke 50mm
Jig mounting hole 6— M6
Stand body weight 10kg
. Operation lever
Mounting bolt
Slide assy
Cable grip
Force gauge
e mounting plate
o-tdle Height adjusting bolt
¢ i (at 4 places)
NBEY ¢ /
141 Lever stroke o
o @
_——\ . ) o
LI"];L Stopper bolt =3 L &
i | Steerbot T ik
é o L"ZJ_ ’
‘i g .
’CI,\ 54 9 Measuring table
Height adjusting range / [ 81 [}~
ght adjusting range / S / ]
i (3 levels) o 7 S
160 o 240
304




B Screw hole positions on measuring table
16

FGC/FGN measuring axis center position

9

54

0
Measuring table i

6-M6 60

B Force gauge mounting hole positions

FGX mounting hole position

\ FGX measuring axis center position

FGC/FGN mounting hole position

/

4- ¢ 45
3-¢ 55 R; /
The mounting holes other than =4

those indicated by arrows are
intended for the DFG-0, and
DFG-2 to DFG-50 (old types).

575

i o
& ™~
h 4

B Stroke adjustment procedure

The force gauge stroke can be adjusted with the lever.
The stroke adjusting range is 50 mm.

B Slide height adjustment procedure

-
E:8

\ Stand mounting hole

y

If height adjustment cannot be performed with the lever, 3—level 30 mm—step height adjustment is enabled by moving

the slide assembly.

(@ Lay the stand body with the side facing up. (Remove the cable grip beforehand.)
(2 Loosen the height adjusting bolts in three slots out of four. (Do not remove the bolts.)
3 While raising the slide assembly, remove the bolt from the small hole, and hold the slide assembly at an appropriate

position. Then, tighten the remaining three bolts.

In this step, be careful not to get your hand or finger caught between the slide assembly and the stand body.




B Force gauge mounting procedure

1) Remove the mounting bolts by using the hexagon wrench (accessory), and
remove the force gauge mounting plate.
2) Mount the force gauge to the force gauge mounting plate as shown below.

FGX series

FGC/FGN series

) Force gauge

_ Mounting plate Mounting plate

Force gauge
Cross—recessed

pan head screw,

M5 x 6 (3 pcs)
(accessory)
Q' o .

Cross—recessed
¥ —" pan head screw,
M4 x 8 (4 pcs)
(accessory)

3) Mount the force gauge to the stand body by using the removed bolts.

B Stopper adjustment procedure

To determine the force gauge lower end position during measurement,

adjust the stopper position according to the procedure below.

Slide assembly

Loosen the lock nut at the bottom of the slide assembly.

1) As the adjusting bolt is screwed into the slide assembly, the stopper o ™
Adjusting range

U

=%

position is raised. /1;
2) After positioning the stopper, tighten the lock nut to complete the '

stopper adjustment procedure.

.\

Lock nut

B Measuring procedure /

. Adjusting bolt
Install the stand body on a level solid table. Y &

During measurement, operate the lever at a constant speed as smoothly as possible. If the lever operation speed is rapidly
changed (to a high or low speed), accurate measurement cannot be performed.

During measurement and height adjustment, use thorough caution not to apply impact to the force gauge measuring axis.
The measuring stand can be horizontally installed.

To apply large load, fasten the stand body.

For details on the force gauge, refer to the force gauge operation manual for each model.

NIDEC DRIVE TECHNOLOGY CORPORATION

(Web Page Information) Please scan the QR code or access the URL below.
? Sales Offices

https://www.nidec.com/en/
nidec-drivetechnology/
corporate/network/sales/

https://www.nidec.com/en/
nidec-drivetechnology/inquiry/

Copyright NIDEC DRIVE TECHNOLOGY Corporation. All Rights Reserved.

NIDEC DRIVE TECHNOLOGY CORPORATION

Nidec Shimpo Corporation change its company name to Nidec Drive Technology Corporation on April 1, 2023.



https://www.nidec.com/en/nidec-drivetechnology/inquiry/
https://www.nidec.com/en/nidec-drivetechnology/corporate/network/sales/

